2-1-2

18 | @@ O O 0O
(
18 19 20 25
(A) 1,000 1,000 1,000 36,252
T 1000 1000 1000 V[ 36,252]
(B) 0.02 0.02 0.02
(€)= ><(B) 167 167 167 0
(D)=(A)+(C) 1,167 1,167 1,167 36,252
(E)=(D)/ 1,167 1,167 1,167 4532
1 1 1 8
""""""""""""""""""""""""""""""""""""" s 0] sl T 100
10
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2-1-2

1 1,000
0.02

18

523



2-1-3

18 | [ O O
2900
(
18 19 20 18
(A) 20,895 0 0 20,895
A 20805 | 1T 20,895
(B) 0.02 0.02
(C)= ><(B) 167 167
(D)=(A)+(C) 21,062 21,062
(E)=(D)/ 12 0 0 12
1,741 1,741
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2-1-3

18
20,895

0.02
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2-1-4

18 | [ O O
(
18 19 20 18

(A) 3,168 0 0 3,168
(B) 0.02 0.02
(C)= ><(B) 167 167
(D)=(A)+(C) 3,335 3,335
(E)=(D)/ 303 0 0 303
11 11
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2-1-4

1,342

0.02

3,168 1,826

18

527



2-7-2

63
17
18
18 | [ O O
(
18 19 20 18

(A) 45073 0 0 45073
A e ol T T T 45,073
(B) 0.02 0.02
(C)= ><(B) 167 167
(D)=(A)+(C) 45,240 45,240
(E)=(D)/ 1,028.17 0 0 1,028.17
44 44
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2-7-2

O
D ettt
O
D ettt
17 18
O
Do)
[
D oottt
63

46,095

(1 x50 =100 /230 065
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6-3-6

18 | [ O O
(
18 19 20 20
(A) 118 118 118 118
[ e 18| 18| || 118
(B) 0.80 0.80 0.80 0.80
(€)= ><(B) 6,662 6,662 6,662 6,662
(D)=(A)+(C) 6,780 6,780 6,780 6,780
(E)=(D)/ 1,130 1,130 1,130 1,130
6 6 6 6
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6-3-6

18 4

531



6-3-7

18 | @ O O 0O
(
18 19 20 20

(A) 214 368 360 360
Y e8| 360 T 360
(B) 0.80 0.80 0.80 0.80
(C)= ><(B) 6,662 6,662 6,662 6,662
(D)=(A)+(C) 6,876 7,030 7,022 7,022
(E)=(D)/ 573 586 585 585
12 12 12 12
[ el 200 200 T 00
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6-3-7

533



6-3-10

18 20
18 | O O O
(
18 19 20 20
A 0 0 0 0
(B) 0.01 0.04 0.04 0.04
(€)= ><(B) 83 333 333 333
(D)=(A)+(C) 83 333 333 333
(E)=(D)/ 83 111 111 111
1 3 3 3
2 3
17
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6-3-10

18 20

535



6-4-6

18 | [ O O
(
18 19 20 25
(A) 172,718 85,480 85,480 85,480
A w000 T [T
A 34024| 34024 34024 | 34.024]
lr 123,794 50,556 50,556 50,556
(B) 0.10 0.10 0.10 0.20
(€)= ><(B) 833 833 833 1,666
(D)=(A)+(C) 173,551 86,313 86,313 87,146
(E)=(D)/ 30.45 13.28 12.33 10.89
"""""""""""""""""""""""""""""""""""" oaa| T oaal T oaal T gl
100

5,700 6,500 7,000 8,000

18

18
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6-4-6

OoT PT

537



12-2-12

18 | @@ O O 0O
(
18 19 20 20
(A) 4,136 8,527 4317 4317
R 8527 4317 V| 4317
(B) 0.17 0.10 0.01 0.01
(€)= ><(B) 1,416 833 83 83
(D)=(A)+(C) 5,552 9,360 4,400 4,400
(E)=(D)/ 2,776 2,340 1,100 1,100
2 4 4 4
[ T I < 9| [T 90]
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12-2-12

O
D o)
17 8
O
D e
O
D ]
O
D e
17 1 200 39 59
4 18 19 2
18
18 20 16,980
4,468
2,100
967
5,769
3,676
1 2

18

539



13-4-7

18 @ O 0O 0O
(
5
18 19 20 18

(A) 1212 0 0 1,212
""""""""""""""""""""""""""""" ey Y YD
(B) 0.20 0.20
(C)= ><(B) 1,666 1,666
(D)=(A)+(C) 2,878 2,878
(E)=(D)/ 10 0 0 10
291 291
T esero| T T 168,670

23
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13-4-7

1,114,560
97,440

30

5 350

18

541






